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1. Who was von Thünen?

2. According to this model what two factors does a farmer consider when deciding what to plant?

a.

b.

3. Assuming the climate permits cultivation of two crops – “X” and “Y” - why might a farmer plant “crop X” if he is able to sell “crop y” on the market for a higher price?

4. Draw a sketch of agricultural land use according to von Thünen.
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5. List things that von Thünen did NOT consider in his model, but which influence farmers’ choices of crops. Note, these might be cited as weaknesses, or criticisms, of his model.

6. How could von Thünen’s model be applied at a global scale?
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